A 4= =
NN SHISFE 12ATEYER
S = SHSEB108 {REEFRR
i e e G ez ke -
2 (A7 Bl = FET FEMTS FaM1= Ee]
THHTTA 777 F IR 9:0079:00 0 9:00 I.%ﬂﬂiés,aui 8:50 [AERIE
38 13:50| [3ZFBHER]
% D|D 13:30]14:45 14:45 15:00 15:15
T
3
=]
4 | F|F 9:00]9:00 9:00 9:00 [E2(FE=RIE 8:50 3=EmEAHERET
3B 13:50( [3ZBHER]
A|D|D _ 13:30]13:30 14:45 15:00 15:15
5 |FE|s &V HEEE 9:00(9:00 9:00 [AEAIE 9:00 8:50
X|D[C _ 14:45|14:45 14:45 15:00 _ 14:20 _
6 [E|Ela A EERE 9:00(9:00 9:00 9:00 [ AZEER 8:50 [= A% R
=1FERIE
K|B|B 13:30]13:30 13:30 13:50 13:50
T|F [EAFEE:ER—X@iHE) [9:00(9:00 9:00 (RS ERRIAZE
A|D 14:45[14:45 14:45
8 || 9:00( 9:00 [fAZ=AIE 9:00 9:00 8:50
£|D 13:30] 14:45 14:45 15:00 15:15
9 BAFE R (I8 TR
+T
10
H
11| % 9:00(9:00 9:00 9:00 8:50 |1, 2=HTEmsHARI (~18)
3D, 15:15| [3ZEDHER]
A|(D[B 13:30]13:30 14:45 15:00 13:50
12 | |5 9:00[9:00[/5, 63%ZESE [ 9:00[/VR~F—38EE [9:00 8:50
X|D|C 14:45|14:45 14:45 15:00 14:20
13|%E| % 9:00(9:00 9:00 9:00 [E2FEHEF= [8:50 B
3D, 15:15| [3ZEDHER]
KICIB] 13:30/13:30 13:30 14:30 13:50
14| FEla A EERRERH 9:00(9:00[/\1. 2#%ZFESE | 9:00 [F1=AFE(BEE)]9:00 8:50 B
3D, 15:15| [3ZEDHER]
AID[B] ) 14:45|14:45 14:45 13:50
15 e REFERmEIE 9:00 9:00 /N3, 4==ZESE | 9:00 |[F1=aFBQEB) [ 9:00 [s32vnr—srzenz| §:50 | ANRERHE
3D, 15:15| [3ZEDHER]
% D|B 13:30] 14:45 14:45 15:00 13:50
T
17
H
18 || % 9:00(9:00 9:00 9:00 8:50 B
3D, 15:15| [3ZEDHER]
H|D|B 13:30{13:30 14:45 15:00 13:50
19 |%&| = 9:00(9:00 9:00 9:00 8:50 [REAET®RES
1, 2= EEHERR T
N|B[B 13:30/13:30 13:30 13:50 13:50
20 [E|E|HBB&T 9:00[9:00 [#6B#&T 9:00 [#6BRT 9:00 [fAB#T 850 [ALRT
7K|B|B 13:30]13:30 13:30 13:50 13:50
AIESES 9:00(9:00 9:00 9:00 8:50
A|ALA 11:20]11:20 11:20 11:35 11:30
YEZER(ZE SN 9:00(9:00 [#&%K 9:00 [#RZFER 9:00 [#E£RX 8:50 [#RER
£|AA 11:20]11:20 11:20 11:35 11:30
23
T
24
H
25 ZHRET/D ZE2RE~1/T ZEMRET/T) ZEHRE~1/T) Z2RE1/D
A
26
X
27
K
28 FRErTH FRErE FRETH FRETH FRETE
X
29
&
30
T
31
H
S 110] 3
(410
(22
2 (16]15
| 45114




